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min z = 3x1 + 2x2

s.t : 2x1 + x2 ≥ 10

−3x1 + 2x2 ≤ 6

x1 + x2 ≥ 6

x1, x2 ≥ 0 :x
qp
max −z = −3x1 − 2x2

2x1 + x2 − a1 + s1 = 10

−3x1 + 2x2 + s2 = 6

x1 + x2 − a2 + s3 = 6

xi, ai, si ≥ 0 :y
gn dxhnd 'wpet z` aezkp
−z + 3x1 + 2x2 +Ms1 +Ms3 = 0:s3e s1 `le a2e a1 da eidiy jk dxhnd 'wpet z` x
ql i
k ,ai mr miveli`d z` wx dlaha aezkpdivxhi` qiqa z x1 x2 a1 a2 s1 s3 RHS

z -1 3 2 0 0 −M −M 00 a1 0 2 1 -1 0 1 0 10
a2 0 1 1 0 -1 0 1 6
z -1 −3M + 3 −2M + 2 M M 0 0 −16M1+2 s1 0 2 1 -1 0 1 0 10
s2 0 1 1 0 -1 0 1 6:libxk qwltniqd z` xeztp zrkdivxhi` qiqa z x1 x2 a1 a2 s1 s2 s3 RHS qgi

z -1 −3M + 3 −2M + 2 M M 0 0 0 16M -0 s1 0 2 1 -1 0 1 0 0 10 5
s2 0 -3 2 0 0 0 1 0 6 -2
s3 0 1 1 0 -1 0 0 1 6 6divxhi`d z -1 0 0 1 1 M − 1 0 M − 1 -16dpexg`d x1 0 1 0 -1 1 1 0 -1 4lr epbli
) s2 0 0 0 -5 7 5 1 -7 14(divxhi` x2 0 0 1 1 -2 -1 0 2 2
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z = 16

x1 = 4

s2 = 14

x2 = 2
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